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Final Exam of Discrete Mathematics

Chuang-Chieh Lin
16:10-17:50, June 26, 2007

(a) (2%)(3=9/2) = (2%)(3%).
(b) on(n+1)/2

(a) ¢(100) = 40.

(b) Skip.

(a) 51— (D)4l + ()31 — (3)2!+ ()1 — (O)o! = 44.
n! 3 (_.1)i .

o (£5)

(c) Skip.

(a) (3)(—2)* =672

. . . _ . /-4
(b) The generating function is *(1 — )™, thus the answer is (') = 56.
an = (245n)3", n>0.
an = (1— %n + %nQ) 2n,
(@) ap =apn-1+an—2,n>2ay=1,a, =2.

(b) an:% |:(1+2\/5)"+2_ (%)nﬂ},nzo

(a) ap =2ap—1+1,n>1and gy =0.

(b) ap=2"—-1,n>0.




